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Eduqas GCSE Sociology - Component 2

All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 8711 3.6 0.7 4 90.7 100
2 8710 4.9 1.3 6 81 100
3 8703 8.4 3.5 15 55.9 99.9
4 8705 10.7 3.6 17 62.9 99.9
5 8685 9.1 4.1 17 53.6 99.7
6 8707 15.7 6.6 30 52.2 100
7 8619 5 2.5 11 45.9 98.9
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.


	Eduqas 2023 Online Exam Review
	GCSE Sociology Component 2
	Item Level Data
	Facility factor graph
	Question 3c
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked

	Example 3
	Example 3 marked


	Question 6d
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked

	Example 3
	Example 3 marked








2 








3 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


4 








Q4 








 


 


 


 


 


 


 


 


 


 


 


  


1 








 


 


 


 


 


 


 


 


 


 


 


  


2 








3 








 


 


 


 


 


 


 


 


 


 


 


  


4 








5 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


1 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


2 








3 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


4 








Q5 








1 








 


 


 


 


 


 


 


 


 


 


 


  


2 








 


 


 


 


 


 


 


 


 


 


 


  


3 








 


 


 


 


 


 


 


 


 


 


 


  


4 








6 








1 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


2 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


3 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


4 








Q6 








1 








 


 


 


 


 


 


 


 


 


 


 


  


2 








 


 


 


 


 


 


 


 


 


 


 


  


3 








 


 


 


 


 


 


 


 


 


 


 


  


4 








6 








1 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


2 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


3 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


4 








Q6 








 


 


 


 


 


 


 


 


 


 


 


  


2 








 


 


 


 


 


 


 


 


 


 


 


  


3 








1 








 


 


 


 


 


 


 


 


 


 


 


  


4 








 


 


 


 


 


 


 


 


 


 


 


  


8 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


2 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


3 








1 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


4 








 


 


 


 


 


 


 


 


 


 


 


  


Q8 








 


 


 


 


 


 


 


 


 


 


 


  


2 








 


 


 


 


 


 


 


 


 


 


 


  


3 








1 








 


 


 


 


 


 


 


 


 


 


 


  


4 








 


 


 


 


 


 


 


 


 


 


 


  


9 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


2 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


3 








1 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


4 








 


 


 


 


 


 


 


 


 


 


 


  


Q9 










		Question 3c annotated Examples plain.pdf

		Script 1 - 7aba0ca9-35cd-49a1-8eac-01854426e2d6

		Script 2 - c931f554-2621-4ac1-b42e-0367f9325a51

		Script 3 - 205c2403-7ddf-4125-9e0c-07893090d494

		Script 4 - 37068958-ec13-4616-a707-07d3ec22fdb3














		Question 3c annotated Examples plain.pdf

		Script 1 - 7aba0ca9-35cd-49a1-8eac-01854426e2d6

		Script 2 - c931f554-2621-4ac1-b42e-0367f9325a51

		Script 3 - 205c2403-7ddf-4125-9e0c-07893090d494

		Script 4 - 37068958-ec13-4616-a707-07d3ec22fdb3














		Question 3c annotated Examples plain.pdf

		Script 1 - 7aba0ca9-35cd-49a1-8eac-01854426e2d6

		Script 2 - c931f554-2621-4ac1-b42e-0367f9325a51

		Script 3 - 205c2403-7ddf-4125-9e0c-07893090d494

		Script 4 - 37068958-ec13-4616-a707-07d3ec22fdb3














		Question 3c annotated Examples plain.pdf

		Script 1 - 7aba0ca9-35cd-49a1-8eac-01854426e2d6

		Script 2 - c931f554-2621-4ac1-b42e-0367f9325a51

		Script 3 - 205c2403-7ddf-4125-9e0c-07893090d494

		Script 4 - 37068958-ec13-4616-a707-07d3ec22fdb3












 


© WJEC CBAC Ltd. 7 


Question 3 (c) 
 


Mark allocation: AO1 1a & 1b AO2 1a AO3 1a & 1b 


9 3 3 3 


 


Discuss different sociological views of class inequality in the UK.  [9] 
 
In your answer you are advised to discuss at least two sociological views of class 
inequality in the UK. 
 
Band descriptors and mark allocations 
 
Note – a response which does not attempt to discuss at least two reasons cannot be 
awarded higher than Band 2.  
 


 AO1 1a & 1b 3 marks AO2 1a 3 marks AO3 1a & 1b 3 marks 


BAND 3 


A coherent answer 
demonstrating 
detailed, relevant 
knowledge and 
understanding of at 
least two views of 
class inequality in the 
UK. There will be 
evidence of 
appropriate and 
sustained sociological 
language, and 
concepts are 
described in detail. 


3 


Knowledge and 
understanding of 
relevant theories/ 
concepts/evidence is 
applied and used to 
explain accurately two 
views of class 
inequality in the UK. 
The explanation will 
be well developed. 


3 


A developed analysis 
and evaluation of at 
least two views of class 
inequality in the UK. 
There is a sustained 
line of reasoning which 
is coherent, relevant, 
substantiated and 
logically structured to 
support judgements 
and a conclusion linked 
to the specifics of the 
question. 


3 


BAND 2 


Answer has some 
coherence, 
demonstrating partial 
knowledge and 
understanding of at 
least two views of 
class inequality in the 
UK, though lacking in 
detail and with some 
inaccuracies/ 
irrelevancies.  
 
Or detailed, relevant 
knowledge and 
understanding is 
demonstrated, but only 
one view is 
considered. There will 
be evidence of mostly 
appropriate 
sociological language 
and concepts, but 
these are not 
sustained throughout. 


2 


Knowledge and 
understanding of 
relevant theories/ 
concepts/evidence is 
applied and used to 
explain two views of 
class inequality in the 
UK. 
The explanation will 
be partially developed 
as some of these 
factors will be 
explained in less 
detail than the others 
and with some 
inaccuracies.   
 
Or knowledge and 
understanding is 
applied and used to 
explain accurately one 
view of class 
inequality in the UK.  


2 


A partial analysis and 
evaluation of two views 
of class inequality in 
the UK. 
 
Or a developed 
analysis and evaluation 
of one view of class 
inequality in the UK.  
 
Lines of reasoning will 
not be sustained 
throughout but are 
coherent and relevant. 
A conclusion may be 
superficial. 


2 
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 AO1 1a & 1b 3 marks AO2 1a 3 marks AO3 1a & 1b 3 marks 


BAND 1 


Answer demonstrates 
only basic knowledge 
and understanding of 
views of class 
inequality in the UK, 
which may be 
characterised by 
inaccuracies and lack 
of understanding. 
There will be little, if 
any, evidence of 
sociological language 
and concepts. 


1 


Application of 
knowledge and 
understanding to 
explain views of class 
inequality in the UK 
will be limited. Any 
explanation will be 
undeveloped and 
contain inaccuracies. 


1 


Limited analysis or 
evaluation only, with no 
judgement or 
conclusion in relation 
to the specifics of the 
question. 


1 


 Award 0 marks for incorrect or irrelevant answers 
  


 
Answers should demonstrate the ability to make sense of sociological debates, use 
sociological terms and examples and explain sociological concepts. To achieve the highest 
marks in AO3, answers should make a judgement on the differing ideas and come to a 
conclusion.   
 


Indicative content  
 


This content is not prescriptive, and candidates are not expected to refer to all the material 
identified below. Credit will be given to the effective use of supporting sociological evidence.  
 
➢ Marxism – Education favours the ruling class and recreates social class inequalities, 


Bowles and Gintis,  
➢ Old Boys network, inheritance, inequalities are increasing.  
➢ Law favours the protection of wealth and property 
➢ Functionalism – Wealth goes to those who have talent and work hard, Davis and Moore. 
➢ Inequality plays a positive function, 
➢ New Right – Murray, Marsland, benefit dependency 
➢ Saunders – Social class no longer significant – We now live in a classless society. 
➢ Prejudice and discrimination against working class and groups within the working class. 
➢ Any evidence of social class inequality from education, crime or stratification. 
 


• credit accurate references to sociologists and theory where applicable 


• there should be a discussion of the importance/credibility of the reasons and a 
conclusion. 


 
Award 0 marks for incorrect or irrelevant answers 


 
 
  












Sticky Note

1+1+1 = 3

Very limited but does attempt to answer question. This is a good example of positive marking applied for an answer with very limited sociological understanding.
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Sticky Note

Some commentary on differences between the theories.



Sticky Note

Reasonably detailed and does link functionalism to class inequality effectively. One area to improve would be to provide firmer conclusions at the close or to provide more ongoing discussion of the merits of different theories. 3+3+2 = 8
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Sticky Note

Some understanding but lacks conclusion/analysis. 2+2+1 =5



Sticky Note

Partial knowledge and understanding of Marxism shown.



Sticky Note

Again, some understanding of the theory bit lacking in detail.
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Sticky Note

AO1 2
AO2 2+
AO3 2 = 6 Some superficial conclusions and Knowledge and Understanding shown.



Sticky Note

Partial knowledge and understanding of the theories.
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	 (c)	 Discuss different sociological views of class inequality in the UK.	 [9]


		  In your answer you are advised to discuss at least two sociological views of class 
inequality in the UK.
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Question 6 (d) 
 


Mark allocation: AO1 1a & 1b AO2 1a AO3 1a & 1b 


15 4 3 8 


 
Discuss whether the police and courts treat all people equally in the UK.  [15] 
 
In your answer you are advised to refer to different sociological views to support your 
judgement. 
 
Band descriptors and mark allocations 
 


 AO1 1a & 1b 4 marks AO2 1a 3 marks AO3 1a & 1b 8 marks 


BAND 4 


A coherent answer 
demonstrating 
detailed, relevant 
knowledge and 
understanding of 
different sociological 
views on 
enforcement of the 
law. There will be 
evidence of 
appropriate and 
sustained 
sociological 
language, and 
concepts are 
described in detail. 


4 


There are no Band 4 
marks for this 
assessment objective. 
 
3 marks are awarded 
as for Band 3. 


A developed analysis 
and evaluation of 
different sociological 
views on enforcement 
of the law. 
There is a sustained 
line of reasoning which 
is coherent, relevant, 
substantiated and 
logically structured to 
support a judgement 
and a conclusion 
linked to the specifics 
of the question.  


7-8 


BAND 3 


A coherent answer 
demonstrating mostly 
detailed, relevant 
knowledge and 
understanding of 
different sociological 
views on 
enforcement of the 
law, though some 
factors will be 
described in less 
detail than others. 
There will be 
evidence of mostly 
appropriate 
sociological language 
and concepts, but 
these are not 
sustained throughout.  


3 


Knowledge and 
understanding of 
relevant theories/ 
concepts/evidence 
is applied and 
used to explain 
the different 
sociological views 
on enforcement of 
the law. The 
explanation will be 
well developed.  


3 


Good analysis and 
evaluation of different 
sociological views on 
enforcement of the 
law. 
Lines of reasoning 
may not be sustained 
throughout but are 
coherent and relevant 
to support a judgement 
and a conclusion 
linked to the specifics 
of the question.  


5-6 
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 AO1 1a & 1b 4 marks AO2 1a 3 marks AO3 1a & 1b 8 marks 


Band 2 


Answer has some 
coherence, 
demonstrating partial 
knowledge and 
understanding of 
different sociological 
views on 
enforcement of the 
law, though lacking in 
detail and with 
inaccuracies/ 
irrelevancies. There 
will be limited 
evidence of 
appropriate 
sociological language 
and concepts. 


2 


Knowledge and 
understanding of 
relevant 
theories/concepts/
evidence is 
applied and used 
to explain different 
sociological views 
on enforcement of 
the law. The 
explanation will be 
partially developed 
as some of these 
factors will be 
explained in less 
detail than the 
others and with 
inaccuracies. 


2 


A partial analysis and 
evaluation of different 
sociological views on 
enforcement of the 
law. Any judgement or 
conclusion will be 
superficial. 


3-4 


BAND 1 


Answer 
demonstrates only 
basic knowledge and 
understanding of 
different sociological 
views on 
enforcement of the 
law. There will be 
little, if any, evidence 
of sociological 
language and 
concepts. 


1 


Application of 
knowledge and 
understanding to 
explain the 
accuracy of 
different 
sociological views 
on enforcement of 
the law will be 
limited. Any 
explanation will be 
undeveloped and 
contain 
inaccuracies. 


1 


Limited analysis or 
evaluation only, with 
no judgement or 
conclusion in relation 
to the specifics of the 
question. 


1-2 


 Award 0 marks for incorrect or irrelevant answers 


 
This is an extended response question where candidates are expected to draw together 
different areas of knowledge, skills and/or understanding from across the relevant 
specification content. They should construct and develop a sustained line of reasoning which 
is coherent, relevant, substantiated and logically structured. 
 
Answers should demonstrate the ability to make sense of sociological debates, use 
sociological terms and examples and explain sociological concepts. To achieve the highest 
marks in AO3, answers should make a judgement on the differing ideas and come to a 
conclusion.   
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Indicative content  
 
This content is not prescriptive, and candidates are not expected to refer to all the material 
identified below. Credit will be given to the effective use of supporting sociological evidence. 
Some of the issues to consider in the discussion are:  
 


• Marxist views of crime and capitalism; ruling class interests protected by the law 


• capitalism is supported by the forces of control 


• White collar and corporate crime are less likely to be pursued and prosecuted 


• Working class crime is more of a focus for the police due to moral panics and the media. 


• William Chambliss – Seattle case study. 


• Saints and the Roughnecks – 


• Labelling 


• Chivalry Thesis 


• Demonisation of women 


• Age – moral panics and policing styles 


• Ethnicity – institutional racism, Stephen Lawrence case, Windrush scandal. 


• Criticisms of Marxism – Working class crime is a real problem and working class mor 
likely to be victims.  


• credit reference to relevant sociologists and theory where applicable e.g. Frank Pearce, 
Gilroy. 


• there should be some conclusion to the argument 


 
 
  












Sticky Note

Strong opening paragraph with relevant social issues. Epstein was obviously dealt with in the USA, but the example was still a useful one of how important the debate is.



Sticky Note

Some evaluation/discussion here and application of several sociological concepts developing the argument.



Sticky Note

Summary sentences provide some evaluation.



Sticky Note

Again a useful summary sentence.







Sticky Note

Short conclusion but the essay has a constant theme of referring back to the question and suggesting conclusions.

4+3+6 =13
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Sticky Note

Useful paragraph on Marxism.







Sticky Note

Concepts of stereotypes and typical offender used well and are a constant theme.







Sticky Note


Lots of relevant knowledge applied . The evaluation was fairly superficial but there was some ongoing analysis and a relevant judgement.

AO1 4
AO2 3
AO3 5 = 12 marks total.
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Sticky Note

A sparkling start to the essay showing detailed K+U.







Sticky Note

Another strong paragraph with ongoing discussion.







Sticky Note

Evaluative edge throughout with coherent argument. Although there are flaws, this is a very intelligent answer for a notional 16 year old and has been given full marks. There could be weaker answers that also gained full marks.

AO1 4
AO2 3
AO3 8 = 15



Sticky Note

Another strong paragraph applying ideas clearly and addressing another dimension of equality in the justice system.
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Sticky Note

Judgement made if superficial.







Sticky Note

AO1 1
AO2 1
AO3 3 = 5

Basic knowledge and understanding with limited application. Common sense knowledge applied but some attempt to answer the question made a superficial conclusion.
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	 (d)	 Discuss whether the police and courts treat all people equally in the UK.	 [15]


		  In your answer you are advised to refer to different sociological views to support your 
judgement.
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